






















Therefore, if the scattering angle of the electron is measured in the elastic 

In the limit of Q^2 << m^2_p and E3 ≈ E1, the expression for the 

proton recoil, and by the new term proportional to sin^2 (θ/2), which can 
factor E3 /E1 , which accounts for the energy lost by electron due the 
Equation (7.30) differs from the Mott scattering formula by the additional 

applies when m_e << E_1 << m_p.
scattering, demonstrating that the Mott scattering cross section formula 
electron–proton differential cross section of (7.30) reduces to that for Mott 

remained intact.

scattering process, the entire kinematics of the interaction are determined. 

the interaction was indeed elastic and that the unobserved proton 
energy and angle of the scattered electron, it is possible to confirm that 
particular angle must be equal to that given by (7.31), by measuring the 
Furthermore, because the energy of an elastically scattered electron at a 

direction for a known incident electron flux.
down to counting the number of electrons scattered in a particular 
In practice, measuring the e− p → e− p differential cross section boils 

be identified as being due to a purely magnetic spin–spin interaction.






























